70LF-200 SERIES

LEAD FREE* SOLDER END BRONZE BALL VALVE

Solder End, 600 CWP (psig). 150 psig SWP. (See referenced P/T charts)

Vacuum Service to 29 inches Hg.
MSS SP-110 Compliant.
CRN: 0C10908.5C

LEADFREE
CERTIFIED

FEATURES

* Lead Free* brass and bronze materials
* RPTFE seats and stuffing box ring

« NSF/ANSI/CAN 61 Section 8, Annex G

* Designed, manufactured, and 100% factory tested in the USA
« Easily identifiable blue hang tag & white lever grip
» NSF/ANSI 372 - Drinking Water System Components - Lead Content

b
G = | @ )
[ C

STANDARD MATERIAL LIST

OPTIONS

AVAILABLE

(MORE INFORMATION IN SECTION J)
« Minimum quantities apply

« To specify an option, replace the “01” standard suffix with the suffix of the option.
« To specify multiple options, replace the “01” suffix with the desired suffixes in the

numerical order shown below. NOTE: Not all suffixes can be combined together.

(SUFFIX) OPTION SIZES

-01 Standard Configuration All

-04- 2-1/4" Stem Extension (Carbon Steel, Zinc Plated) 3/8"t0 3"
-07- Steel Tee Handle 3/8"to2"
-10- SS Lever & Nut 3/8"t0 3"
-n- Therma-Seal™ Insulating Tee Handle 3/8"t02"
-27- SS Latch-Lock Lever & Nut All

-32- SS Tee Handle & Nut 3/8"to2"
-47- SS Oval Latch-Lock Handle & Nut 3/8"to2"
-48- SS Oval Handle (No Latch) & Nut 3/8"to2"
-92- Balancing Stop 3/8"t0 3"
-94- 2-1/4" Stem Extension, Balancing Stop 3/8"t0 3"
-HC- Hose Cap & Chain with SS Lever & Nut 1/2"to1"

Pressure/Temperature Ratings - Page M-10, Graph No. 4

PART MATERIAL

1 Lever and grip Steel, zinc plated w/vinyl

2 Stem packing RPTFE

3 Stem bearing RPTFE

4 Ball C27451 Lead Free* Brass, Chrome Plated

5 Seat (2) RPTFE (3/8"to 3"); TFM (4")

o | reune S

7 Gland Nut B16 Brass

8 Stem C27451 Lead Free* Brass

Lever Nut Steel, Zinc Plated
10 | Body (89836 Lead Free* Bronze
DIMENSIONS

PART NO. SIZE A B C D E F G WT.
70LF-202-01 3/8” 0.37 1.28 2.56 1.75 3.87 0.51 0.37 0.63
70LF-203-01 1/2" 0.50 143 2.87 1.75 3.87 0.63 0.50 0.71
70LF-204-01 3/4 0.68 193 3.87 212 4.87 0.88 0.75 1.44
70LF-205-01 1 0.87 2.25 4.50 2.25 4.87 113 0.90 191
70LF-206-01 1-1/4” 1.00 231 4.62 262 5.50 1.38 0.96 295
70LF-207-01 1-1/2 1.25 262 525 3.06 8.00 1.63 1.09 399
70LF-208-01 2 1.50 318 6.37 3.25 8.00 213 1.34 571
70LF-209-01 2-1/2" 2.00 374 751 372 8.00 263 148 15.53
70LF-200-01 3 2.50 472 8.25 472 8.00 313 1.67 16.74
70LF-20A-01 4 313 5.65 10.26 522 9.94 413 216 2793

*LEAD FREE: The wetted surfaces of this product shall contain no more than 0.25% lead by weighted average. Complies with Federal Public Law 111-380. ANSI 3rd party approved and listed.

integrated
piping systems

aalberts

Customer Service (704) 841-6000

www.apollovalves.com

WE RESERVE THE RIGHT TO CHANGE BOX QUANTITIES

A-7



